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. (10 +710) -5 x (-2 +I( -} -(-6

b. (0x2-5 400)+100 -24 -(+11) + 100 + PO

€. (20-13)45x (r+(-5D (-9) + (-4) - (4) x 5+ ((-80) =8)
d. 192 x (- + (-192) % = b0 =3 +10
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a. (10 +10)+ 5 x (-2) +/( -7 - (-6)) |
First take care of the backets Multiply I P S
=0 #10) + 5 x (-2)+ (-7.- (-6) 4 x (-2) + (1) = (4 x (=2)) + (-D) -
=20 +5X (-2)+ (-7 +6) | =2 (-8) (D
=20 +5x (-2)+ (-1) Lastly, Add
Divide. (-8) + (- =-9
200+ 5x (-2) + (-7 +6)
=20+ 5)x(-2) * (D) | llsol a0 +10ly s 5% (23 b (7 dc-gn=-8 |
—Ax(-2)+ (D | |
b. (0x2-5 400)+10 €. -24-(-11D)+100 =20
= (0x2 - 5, 400) + 100 = (-24) -/(-1D + (00 = 20 )
= ((0x2) - 5,400) = 100 = (-24) -|((ID) 5
= (0-5,400) = 100 = (24) -|(-11 +5)
= -5400 = 100 = -54 = (-24) - (-6) = (-24) + 6 =/
So, (O x2-5,400) + 100 = -54 So, -24 -(-11) +100 + 20 = +18
C. (20-15) +5x (-9 + (-5 f.| (-9 + (-4) - (4) x5+ ((-80) +8)
= (5 +5)x (-9) + (-51) = (-9) + (-4) - (4) x 5 +|((-80) +8)
Ll = dx9y sy | L P =D+ (A -4 XEY+ 1) | | |
= (+9) + (-5 = -60 = ((-9) + (-4)) - (20 + (-10))
=(-13) - 10 = -23
So, (20-15) = 5 x (-9) +/( -51) = -60 So, (-9) + (-4) - (4) x 5+ (-80) +8) = -23
d. 192 x (-D 1+ (-192) 9 x3-50+5+10
= (192/x (-1)) + (-192) = = 5x3 - (50 % 5) +10
= (4192) + ( -192) = -384 = (5x3) -[10|+ 10
=15-(10 +/10) =
50,192 x (-1) + (-192) = 1384 =15-20/=-5
So/5x3 -/50 + 5 +/10|= -5
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